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PART - 111
senflesfl oyflefusy / COMPUTER SCIENCE
(s HMILD opiudle cufl / Tamil & English Version)
ST jere] : 3.00 wewtl GHILW ] [ Qurss wHUGUETseT : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

&S EHD FflursL] LHourdl e areTSm TSI ETH

Sleyemrsst : (1) Amarsgl e
pulmLifer, mné

giluTTEg s Gararara]w. SFsLLSeiled &6
sansTariureTfLLD 2 L g uiTss Qg fleflssaL.

Beold d@F SEHBLUY awwlamar LLHGCL TRIUSHESD,
21 5CEMg(HeugnGSLD LweTuHES CauamHiLd. LILBISET aUenTeusSnE
Quenfled LwETLHSSaLD.

(2)

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

(2)

L@ -1 /PART -1

Py : () SImSSl eenrss@EpsEh el walEsa]w. 15x1=15
@ Qsr@ssuul@drer LIHD daLsale Wsa|d DLW
AaoLaws Corb0s0555 GHUELOLe el ulamarnd Cars g
GT(PSGLD.
Note : (i)  Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1.

Qmaﬂuﬁt.@ wgmg;smg; D|ENLITGTLD & TeioTas.
(1) &l () Gﬁlm&uumma; @) Hleveneusid () Hevrwsd

Identify the output device.
(@) Mouse (b) Keyboard (c) Memory (d) Monitor

TB5 eumliled Fmés saradll e DADP&SILHS g ?

(<=1) XNOR (2,) AND (&) OR (fF) NOT
Which gate is called as the logical inverter ?
(a) XNOR (b) AND (c) OR (d) NOT

Buss iewliureg) Lwarms TSSan Hlene LINGISTLIGL eulpikiGEDS)?

(=) 3 ()2 (&) 5 (rF) 4
How many level of securities is provided by operating system to the user ?
(@) 3 ®) 2 © 5 (d) 4

aflerGLrmat LweTLITL g 6 Carliyser Qarimhlapewrs erbs GCamiyenmude
Celilg&sumb?

(1) My computer (<) My document

(@) My pictures (FF) Documents and settings
In Windows applications which is the default folder to save files ?

(a) My computer (b) My document

(¢) My pictures (d) Documents and settings

m, n rlsafle mﬁuﬂ]@gg@,a@ 9@ eremen Log‘ﬂuq @@asgm?

(1) mn:=10,5

(2) mn:=m+3,n-2

B) m,n:=?7?

(=) 3,13 (<) 10, 13 (@) 13,3 () 10,5
After the assignment what values will be stored in the variables m, n ?

(1) mn: =105

(2) mn:=m+3 n-2

B) mmn:=2?7?

(@) 3,13 (b) 10, 13 () 13,3 (d) 10,5
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SpEETE@YD DLEG THEMET (PD QWG LD?

m:=0

while (m<5)

m:=m+1

(1) 10 (<) 4 () 5 (FF) 6
How many times the loop is iterated ?

m:=0

while (m<5)

m:=m-+1
(a) 10 (b) 4 (© 5 (d) 6

@ Blyedled 2-arer 858 m) sNES DADE

(<=1) efldbanevaer (<) Gura&EHlepenD
(8) Cpdlpep () umdeyluLid
The smallest individual unit in a program is :

(a) Tokens (b) Pseudocode

(c) Algorithm (d) Flowchart

@eaupmer wLESH@ar QuEEGDGUTS wL_sHamar al_® QeualGup o saybd

Fapm Wrgl? _
(<91) while (<,) goto (@) break (FF) continue
Which of the following statement is used to terminate the execution of the loop ?

(a) while (b) goto (c) break (d) continue

CH++ - @@ GPlmeael MRS5S LHMID ETETAUMSLT SHOOF GO
eramueng EuMiss 2 5a|Lb QEwnaam 678l? ‘

(=) islower() (<2,) isalpha() (&) isdigit() (rF) isalnum()
In C++ which function is used to check whether a character is alphanumeric or not ?
(a) islower() (b) isalpha() (c) isdigit() (d) isalnum()

int age[ ]=1{6, 80, 75, 21, 10};
Qi ianflufler ersseman 2 ILIL|GET - eTera?

(<o) 4 ()2 (@) 5 (/) 6
int age[ ] ={6, 80, 75, 21, 10}; How many elements are there in this array ?
() 4 (b) 2 (€ 3 (d) 6

[ Hiliys / Turn over
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11, QemeumeuacudmIET 6Ta L UDTUDIEGSD FT6 Uans ELh?

(<=1) char (<) class (@) float (FF) int
Which of the following is a user defined data type ?
(@) char (b) class } (c) float (d) int

12, Qeeumid (perauig.eydia, SLpESTL_euDH 6T ThHS &S QuESEILELD?
add display (add é&a); ‘
(=) poed 268
(<) prareey aysd
(8) SeTymESEHLET Fnlq i oy 58
() SieTméser @dars opéd

Which of the following constructor is executed for the following prototype ?
add display (add &a);

(a) copy constructor

(b) default constructor

(c) parameterized constructor
(d) non-parameterized constructor

13, Ct+-a Wameupd erps Qewp@hlenw venflil gLy Qeiwemb?

(=) ?: (<) + (@) sizeof (FF)
In C++ which of the following operator can be overloaded ?
(a) ?: (b) + | (c)  sizeof (d)
14. Yemeumeuameupmer ergl wryfod Quhn euflensulen QussLuRSHng?
(=) pohdaarsse (<) <1fud
(@) SI(HeULTESLD ‘ () &8
Which amongst the following is executed in the order of inheritance ?
(a) composition (b) destructor
(c) abstraction (d) constructor

15. &p&sameupmier ergy Gewdpeap LWIHA LHMDL LSBT DSWTEHEmg;) ?
(=) sefluQurd perQeardser (<) e-fevwleror psarssio

(&) Blrcoaer () pésblre
Which of the following deals with procedures, practices and values ?
(@) computer ethics (b) piracy

(c) programs (d) wvirus
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sLLmuw eflenLwef&sa,b.

Note : Answer any six questions. Question No. 24 is compulsory.

16.

17.

18.

19.

20.

21.

22.

23.

24,

safls grens Cewuassfear (ALU) Qeweour@aer wireamed?
What are the functions of an ALU ?

6x2=12

(11.011), eremp Qmflened eraimanflng Harman LSO CTETEMET &GS,

Convert the given binary number (11.011), into its decimal equivalent.

§ﬂ7&5@,®‘ﬂ GTGITMITE) GT 607601 ?
What is recursion ?

C++ -¢v 2_emem break, continue FaHMIGET ) @LI')]L'JLI er(LpgIS.

Write a note on break and continue statement in C++.

if snp e S LenETWEnLDLIL] LDHILD THE&IGET(H eT(PSIS.

Write the syntax and example of, if statement.

void grejeuensulilen (PpESILGSICUTBIGET GTEme?
What are the importance of void data type ?

LIO@) MG TEHLD GTETMITE) GT GG ?
What is polymorphism ?

TSCII - GTEIMTE) ETGITE?
What is TSCIL ?

a=65, b=15 erafle Sip&aeiT_aDeD STETS.

i) a&b
(i) a”b
If a=65, b=15, then find
(i) a&b
(i) a”b

[ é]@l_]qa; / Turn over
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L@l - I / PART - III

GOILY : gCsed oy, deés@nsE el wealssa)h. elerm eream 33 -&@&
SLLmub ele wefdseyLb. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.

25. Sgtinen eurudersefler Qmuhuuqu,udJasmm‘GT@gd&S-
Write the truth table of fundamental gates.

26. CD wpmib DVD Coumu®sgs.
Differentiate CD and DVD.

27.  omiFHE CgTily. (Recycle bin) GOILIY euenys.

Write note on recycle bin.

28. 9MUY (Decomposition) eremmmed eremmen?

What is decomposition ?

29. @Oy s :
i) Aoy Qeraer
i) EOUCUWITsSEr
Write short note on :
(i) Keywords
- (i) Identifiers

30. C++ -6 stremp() - Qewpsmmn Ul GOLIY eueys.
Write note on strcmp() function in C++,

31. Siewfl TEMMTEL GTETEN? BIFE EUMSHET WITENEU?
What is an array ? What are its types ?

32. epam uens sramLblene LIMGEIGEET LDD 6T(p5)s.
Write about three types of visibility mode.
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£CG Car@asuu’_(Herer C++ Hlreapal] o O . . .
ofen_woflisesoyib. il Uig &g Wemeumd ellanmés(@ns@

33.

Read the following C++ code and answer the questions given below :
#include<iomanip>

#include<iostream>

using namespace std;

class product

{

int code, quantity;
float price;
public:
void assigndata();
void print();

L

int main()

{

product pl, p2;
cout<<*\n Memory allocation for object pl”<<sizeof(p1);

cout<<“\n Memory allocation for object p2”<<sizeof(p2);

return 0;

() GuhsamrL Blraled @ené @ el ClLwim GTGITGUT?
i) Qaduelen sray e MLULSET WT@aI?
(i) pl p2 - QuUIHETHEREETET Hlenarous 281650 Wrg)?
()  What is name of the class in the above program ?
(i) What are the data members of the class ?
(i) What is the memory size of the objects p1, p2?
[ Hmriys / Turn over
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UGS - IV / PART - IV

GO : SieweSE AamésE@EnsEh ol wallésayb. 5x5=2¢
Note : Answer all the questions.
34. (=) senfluGurdlufer LOCam sawapEmar eflaréEs.

35.

V0G|
(=) Quss emwlfer LWEE®ET 6T(SIS.

(@) Discuss the various generations of computers.

OR

(b) Write the uses of operating system.

(21) C++ - 2_drer Wenipsaien eumasemer efleuflEsa,wb.
SV

(<) Blevpay CamglliL L &@ erempTe) eTamen’? FCs@Ib e Hlepey Cardiiy
wL&Her Qurg augeud wHMD QUTGBSSLTE TOSFHESTL HLen
eleTE G

(a) Explain the types of errors in C++.

OR

() What is an entry controlled loop ? Explain any one of the entry controlled loop
with syntax and suitable example.
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36. (1) CH+-aif.. else DD switch anpifleir Gen_Cuw o_arar wédw CeumumBaer
GT UGN ?

{60605

(<) C++-6b 2_éTar WomBlud e auenrweene eldipanaamer erHSEIESTL(H L6
elemd; .

(a) What are the key differences between if.. else and switch statements in C++ ?

OR

(b) Explain scope rules of variables in C++ with example.

37. (=) () &b eTemmed eresen? ;9456'& LIWIGIT GTEmmen? -

(i) s Omee SPelssaidstar Qsrifle wHpId @ TrOHESESTLDH
T(PEIS.

(i) @@ sl @Omnelar 2 MULEMET GTeUaIT) AES (PlgWbd?
THEHESTLH S(HS.

(@) (i) Whatis structure ? What is its use ?
(i) Write the syntax and an example for -creating a structure.
(i) How to access members of a structure ? Give example.
I|evevgl/OR

[ Sy / Turn over
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(<) Spsramid C++ Blrader GeuafluSl eoL T(LPEIS.
Wmbleer age = 23, height = 1615 wHmLd weight = 45 crand &SIS CeTeTene;n,
Write the output for the following C++ program.

Assume the values for age as 23, height as 161.5 and weight as 45.

#include <iostream>

using namespace std;

struct Student

{
int age;
float height,weight;

Jobj;

int main()

{
cout<<"\nEnter the age :";
cin>>obj.age;
cout<<"\nEnter the height :";
cin>>obj.height;
cout<<"\nEnter the weight :";
cin>>obj.weight; '
cout<<"\nYour details :";
cout<<"\nAge :"<<obj.age;
cout<<"\nHeight :"<<obj.height;
cout<<"\tWeight :"<<obj.weight;
return 0;

38. (=) () Gummper Crrés Hrarssgden splidwudlsmar afleuflésea)b.
@) Qummer CEréE Hlronssssdn Benenogenet elleul&sa]Lb.
(@) () Explain the main features of OOPS.
(i) What are the advantages of OOPS.

3{6060g)/ OR
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(<) @aThHsLULBerer Qauallui e Qup emeupd C++ By el @iemer
Genpsemar Wenlp EmEsn Qs

Debug the given C++ program to get the following output :

Output

Sum Constructor :
Difference Constructor :
1. Add :

2.Difference :
Enter your choice :2
Enter the values for a and b :20 60

The difference of two numbers are -40
Difference Destructor :
Sum Destructor:

Program

?include<iostream>
using namespace std

class sum
{
int a,s;
protected:
intb;
publicly:
void sum()
{

; a=b=s=0;
cout<<"\nSum Constructor v

void input();

{
cout<<"\nEnter the values foraand b :";
cin>>a>>b;

}

void addition()

{
s=a+b; .
cout<<"\nThe sum of two numbers is :"<<s;

} |

void minus()

{

return a-b;

}
[ Hpliye / Turn over
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+sum()
{
cout<<"\nSum Destructor :";
YL
class difference # public sum
{
intdl;
public:
difference()
{
d=0;
cout<<"\nDifference Constructor :";
}
void sub()
{
input();
d=minuses();
cout<<"\nThe difference of two numbers are :"<<d;
}
~difference()
{
cout<<"\nDifference Destructor :";
}
L
int main(]
{
difference obj;
int ch=0;
cout<<"\n1. Add :\n\n2.Difference :";
cout<<"\n\nEnter your choice :";
cin>>ch;
switch(ch);
{
case '1"
obj.input();
obj.addition();
break;
case '2" -
obj.sub();
break;
b
return 0;
k

~-00o0-



